
Q1
Solve the following simultaneous equations, stating both of your solutions

a) 3x + y = 7


b)
5x + 2y = 3

2x – y = 3



2x – 2y = 4



c)
10x – 2y = -8

d)
3x + y = 13




10x + y = 19


2y – 3x = 8

e) 5x + 3y = 24

f)
5x – 4 = 4y

x + 5y = -4



2y + 2 = x

Q2
Two numbers x and y have a sum of 15 and a difference of 3

a) Write a pair of simultaneous equations in x and y

b)
Solve for x and y

Q3
Six apples and four oranges cost £1.90, whereas eight apples and two oranges cost £1.80.  Find the cost of an apple and the cost of an orange.

Q4
A box has length (x +y) cm, height (y + 4) cm and width 2x cm, where the length is 12 cm and the height is 11 cm.


a)
Write down a pair of simultaneous equations



involving x and y


b)
Solve the simultaneous equations to find        y + 4





the value of x and y










c)
By substituting in either your value of x


              2x



or y, find the volume of the cube in cm2                       x + y

Exam style question

Q5
Mrs Rogers bought 3 blouses and 2 scarfs.  She paid £26


Miss Summers bought 4 blouses and a scarf.  She paid £28


The cost of a blouse was x pounds.  The cost of a scarf was y pounds

a) Use the information to write down two simultaneous equations

(2 marks)

b) Solve these equations to find the cost of 1 blouse.


  (3 marks)

Q6
Solve the following pair of simultaneous equations.  Show all of your working out.

3x + y = 9






x + 2y = 6





 
  (3 marks)


Q1
a)
x = 2 
y = 1


b)
x = 1

y = -1


c)
x = 1

y = 9


d)
x = 2

y = 7


e)
x = 6

y = -2



f)
x = 0

y = -1




     (2 marks each,12 marks)

Q2

x = 9

y = 6







           (2 marks)

Q3

apples = 17p
oranges = 22p





  (2 marks)

Q4
a)
x + y = 12



y + 4 = 11









  (2 marks)


b)
x = 5

y = 7








  (2 marks)


c)
width = 10

Volume = 12 x 11 x 10 = 1320 cm3

  (2 marks)

Exam style questions

Q5
a)
3x + 2y = 26



4x + y = 28








  (2 marks)


b)
x = £6
y = £8




1 blouse costs £6.00






  (3 marks)

Q6
x = 2.4
y = 1.8








  (3 marks)
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